Christmas Problem Solving

Draw
Tina had $37 in her piggy bank. She spent $15 buying a gift for her
mother.
How much money does Tina have left?
Draw
There are 21 elves in the workshop. 5 elves leave fo help Santa.
How many elves are in the workshop now?
Draw
On Christmas day, Kim ate 16 candy canes.
Her brother ote 7 candy canes.
How many more candy canes did Kim eat than her brother?
Draw

The Christmas tree had 24 lights. During the night, 9 lights fell of f.

How many lights were left on the tree?
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Problem Solving Answers

Tina had $37 in her piggy bank. She spent $15 buying a gift for her
mother.

How much money does Tina have left?

Tina has $22 left.

Draw

There are 21 elves in the workshop. 5 elves leave fo help Santa.

How many elves are in the workshop now?

There are 16 elves in the workshop.

Drow

On Christmas day, Kim ate 16 candy canes.
Her brother ote 7 candy canes.

How many more candy canes did Kim eat than her brother?

Kim ate 9 more candy canes than her brother.

Draw

The Christmas tree had 24 lights. During the night, 9 lights fell of .

How many lights were left on the tree?

There were 15 lights left on the tree.
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